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e Please check that this question paper contains 6 printed pages + 1 Map.

e Q.P. Code given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

e Please check that this question paper contains 10 questions.
e Please write down the serial number of the question in the
answer-book before attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

B
HISTORY (Urdu Version) [=]
"”/r =3 V‘/"J{
TLme allowed : 2 hours Maximum Marks : :

253/6/2 P.T.O.




ey §¥F
; “égffc.i{,uf/ﬂ“&z:_/i:«;/./cay,«,d}.y/ﬂ

_tdir10 FUt iU (i)

_‘gtf iy (}” J D C,B AU~k Sty (ii)

Ul s e e L L ree G 26U ST i

A3 L et s 2d_ s Fhe 1 AU — A ()
e bl e BWIB0 KU Ut

/6£J!r.,g!/;_ugdlyLl;u,{!ﬁd,.f7c'—5/diyuﬁc -B.» )
bt S5 591150-200 12605 iU

LgU’}”J:’).J’}”vgﬁ_wd’fﬁf{.dﬁ“"f{9/}'8/d’fu:fc —C» i
L A S

e 620 G 104U e~ Do (vid)

iy pjgw'u&u;wﬁu)nm{ug e S N33 (i)
_4‘-wﬁ,mﬁmwu§u e ey P e

A_ >
4x3=12 (e iy d_tsysind_s)
3 -éugaugé&f}:&uud}d/uam 1
3 CE A ASIn Lzt E e 2

253/6/2




[EEE
=¥

- Luser s (Permanent Settlement System)‘ et 57

3 _E Sl T
(Subsidiary Alliance System)‘(w)o,«,b»d:u!’(tbjo;/;lg.léu’ﬁdﬁ’dbﬂ (a)
3 N
L
3 LSk e i AU U L1857 (D)
B..»
3x6=18 (etyrLoizdd)
“-én( F L sl 3 aﬁtétéw,uiuy/“fluﬁ 1857
6 _SE el f S 1AL e ot
6 -“éuyayﬂ; (TIJ(provincial administration) J‘J )(ﬁ é@r‘f (a)
$
6 ‘g,iuy.ay# ﬂlgf(imperial household) U4/ /&@Jy (b)

Sk useinZ Sl Mﬁwul;f;/ww{u?uzmméuif’ F<r ()
JJiu’u»’V&u)t‘i‘?/l:f‘_“éé_né.b/ﬁ'uccﬁujz_/jﬁ;(fa@}

6 ?_.‘é =olo)
$
cof Ll L =ri 5 ((Non-Cooperation Movement)f # ¢sl5 rx” (b)
6 _Eeol S SA LI

253/6/2 P.T.O.




&
C.=»
2x4=8 (s 3 D)
1+2+1=4 : “&‘Lma:u):yézrjéium;“&gc_/ﬂ ol st
KT6p 2 L)

SLnf TUb e sl Ut S <1950 $13226 2 o Tu s Qs
Ll JESTUEN] SO -T2 /,rf Lhpi o Sobess”
Vgtlﬂ_ta?ue/(ﬁ){,ubgfﬂ@f“/;I@V;J/;ut&;m:ﬁ)ﬁd;iﬂ_&nﬁaﬂ?
P e b e $hind Lol LTmd L&, e S5
Fl g Turd LJf,g_w,,/u//g/,/k&f’"uﬁJ‘“‘Jzﬁu;o;/4}jv
P A L Ut L UF pl st i £ U3 Jos
by s, (B p e e f UL g TS par S ST b1,

STz Us IS aE S s i

Jw;w;JuL:/mum;w-énuyni 1949 ~5.511946 /r‘/;‘).i@gf@{‘@t’dm
Y= S VIR B S s SISV Y I AN A o
638 g 2 5L U L g L g1 E S U (51652

o
1 WA SGE5 L i d L&, 80 8.1)
2 U SUL T e S p i Us £ LS55 (8.2)
1 (FEL Pl sLE 1S (8.3)
253/6/2




[EEE
=¥

1+2+1=4 : “&‘LmLuytyéz,)éiuﬁj,;“&gc,/im S 9

Cre?

e

Jy@@uguﬁ(.ﬁu&;b)ﬁpi “62/9’;5“ ”Lugﬁﬁéjut(lpgtg;éfioff

<&
¢

53 u:ég,;u“j ne; ce il 2 5L oh S e “ ”vf'uﬁ.::w; sVl
el 3 L5 =F (210 Serard G S\ o1 F i Ui i
E S P AL A muir g L e 5186 S L L
el ke S e Lt S e 511442
Lﬁ:u;{a;,/iﬂu{'.wf&ﬁl}g}gu{!utu,ﬁﬁuaﬂdt&mﬁ,L/@’/lm-@
et oo if st 2 LBy 1GEE S Gl po G e S
P L(UED sl 38 1 F g ATty 5 2 £ ool sl L s

.

&
1 ?‘géiﬁfﬁj{.bﬁ/ﬁc“&:u/z'_d/ﬂU).,}l;fl 9.1)

2 ?&oﬂ@/’g/ﬂ'éuﬂb'g/’/u U:LL//Q;J.&; (9.2)

1 ?%C/JJ@Ja/WJ@é-JUUQKC‘/J (9.3)

253/6/2 P.T.O.




EEE
=3

D..»

1+1=2 O =)
S S S (T 3VLe s LE L genind o 10D

-“&fruunéﬂuw;viu?m

1 -u?m(uf OIS ertn  (a)
L
1 B S s Lulslns JESELGS s (b)
= A e L3 < Alewl Lus Lo LE Sy (102)
1 ~“&{(uwt4¢fu&f e LUt gd N YDy

Py L(Jlréﬁ)l()/:‘;dlr“i L Us sl S 2 f 500 ¢

1 -céL'KLwVQJ(JLLuﬁf (10.D
1 ZrikS G5 L1857 @ (102
]

2 d LTl SES LGS ¥, ubgc“i(m{upm (b)
1 ..La?y/(ﬂ/:'o/

253/6/2

.10



=
2210 AU For question no. 10
(ST
Outline Map of India (Political)
6?" 712" ’ITB" 80° 84° 88° g2° 96° 100°
36°F {""‘“\ " {36°
S .- ey
P -
L E;"
L, -
3T ] "\?} {3z

28°

24°

20°

16°

12

28"

124°

20°

16°

12°

8° 80
km100 0 100 300 500km
]
P 76° 80° 84° 88° 92 96°
253/6/2




